gr 8 u2 int day 14 TEST review MONDAY Sept 25.notebook September 25, 2017
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1) Evaluate. Show all steps b) 7[2 + (-10)] - 5(2)
(-6)(+7) + (4)(-3) = 1C8)-9C
(8) -5

(-3)(-2)
= 56 — 903
= =0b 1%03
= (99) 1 Co)

- Lee)

2) With the following set.of integers, which pair has the greatest product?

43,0 -7, +6 (\3)&&&» -3\ N\ W\\u\"\':P"j

\ -9 xz-”[) =¥6) Pij;{“h

Sam< la 373’\
3) Fillin the next 3 term. Write the pattern (Where does it start and how do you get

the term) (-9)
-2, +10, -50,250 ;|50 , %6350 S‘\ﬁf‘f 6& .
and mu .0W

each tvrm b\j
9)

Ny
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3) (-6)(+7) + (4)(-3)

(-3)(-2)
Top O +()ED) boten
s (LQ(/-:S) > (:)
—_— +
C.\*R) "- (“2,)
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Toe - - oM
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ﬂf Grade 8

f/lzzm@/, ng]m. . 25

1) Evaluate. Show all steps b) 7[2 + (-10)] - 5(2)?
P 6)7) + (4)3) ="(-6 ] -5
e - (-Se) =52
= (— Sb) — (IO)
-(s0) T C1o)
= -—bb

2) With the following set of integers, which pair has the duct
+3, -9, -7, +6 -+
(-)x (_)\3 —Hﬁ ( e
o — +6)= +
() x (33) %

3) Fill in the next 3 term. Write the pattern (Where does it start and how do you get
the term)

-2, +10, -50,4 250, - 1250 #6350
shart oF "& muliiely by
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More Practic ¢ Test is very similar warm i’o
A\ﬂ{a' @23 g

S
NS DO0 )OO __QQ——D 00
0 GooS @
1) Modelﬁx(+3) using tiles poo. 000 5 06D
— 000 oo ©o0 30
= _&)l e e o) 000
2) Find the quotient a) (-20) +L‘(-5) b) (+72) + (-8) - -9

=+
3) Evaluate 4(-7) - (-2)

(-3)(-4)

4) If Karen and Jim are playing golf and Karen has 5 holes of 1 under
par and 3 holes with 2 above par and 1 hole with 2 under par. Jim's

score is 4 holes 1 under par and 3 holes with 3 above par and 2 holes
with 3 under par. Find each score. Who's is better?
ch TN
5 (- D b 302) +1(2)
() + ¢+ Y

RIS

S

Qi HED + 30G3) +3¢)
N\~ A

= ”L‘( 1 (~|—Q) + (_(O>

SIS

N)
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4-7) - (-2)
(3)(-4)

G- ) ot 90
= () 1G L)

AR S

[ |
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SOLUTIONSy , 4y — —a)

1) Model (-7) x (+3) using tiles

&S B S 5SS D
030 00 00 900 900 07

00 0 00 0

2) Find the quotient a) (-20) + (-5) b) (+72) + (-8)

= +Y = -9
3) Evaluate 4(-7) - (-2)
(-3)(-4) B st <'3> (- 4
TR
Tet Y (-‘l) - (' Zz
= 37 +(12
-26 :_;2_'1

4) If Karen and Jim are playing golf and Karen has 5_haoles of 1 under
par and 3_holes with 2 above par and 1 hole with 2 under par. Jim's
score is 4 holes 1 under par and 3 holes with 3 above par and 2 holes
with 3 under par. Find each score. Who's is better?

Karen

S -1) +3(+3) *ﬂfﬁw 317(— ) +3(43)+203)
(9 v+ (- (Y

\/-\I/\/ L/:fs\— +(—Q
) -




gr 8 u2 int day 14 TEST review MONDAY Sept 25.notebook

2 + [4x(-2x3) - 10]
3+2(10)+4

'TD?-_ &+[;qxczxs)/10}
2t [ux (o) (h)— 1)

>4 L 16
A E(w)htg}

a ¥ [43»11

e > -0

Prbom> 2+ 2.0 + 4

T 3y Q0 =M
_ \ U
= 3y 5
= B
doe . | -3d
RoHom AR

September 25, 2017



gr 8 u2 int day 14 TEST review MONDAY Sept 25.notebook September 25, 2017

Aa) (-7)144% =20 Hhbe36)- 4 oo
DS S > >
] M)y
-20 44 (- 9)
=5
A3 o
N A =R
<'6>\(a\~(-4\ ~d (‘3)7‘(')8)—;3 1

AT ~34(~¢) =
g H 9 (°
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6. 43+ 72(-4) _ - 40
5 (-1) -4

4-3)47C4) =43
1 +-2%
s ]

S L-cs)<es) g

- 2 (-2) = Ty

1-C5)= )

(1M ¢ E\“— T
#342 3
RS

A 324 -oR)=(*7) 42

224 Ry

=Y -(-a8)<7 - -
5 i) )
_“(Q‘f\

N_12-4 -6V 43¢

LTy () 73

.
-4 6) 3-3)\ ¢ 2
el A
34 . e
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. (-40-2/[z % ~2)
~40-24 - 4)
409
“4otHE)

—_ ?):2
Ro!ﬁf"&- was <ot rect

22929 (-2 (-20) 4 é (-9

=/0-(-)

=~ 10} (+Q) ‘?0 — (2++2)
3 <0< *y
5-2146<3 0
-2)+ 2 G?’f@% 3
=19 "12\3
Q) /043xR -]
Jo + 3R -
046-T ’0+31-57>
1 J0+ (~15)

——
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13 oS- Yxus oo+ HCPI

05— /%0
225

She has 32325 in h<r account.

s ca)x GEHEHA)E 1) ) 4 (-2

_ .
=35
L
5
T 10 Y] -2 [=F] | = 2/

B (=9 [H=2D[F]4 = |
D L [ XD [=] 2 =44
A (DD [=]8 = Y%
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Page 97 .
Toles
#2(a,b...MODEL), #3, #4(just the sign),
#5(a,c,d....show work for c,d using distributive p)@perty
#6(a,b,c,d), #7, 8

Page 97-98
#9(a,c...no tiles), #11a, #13a, #16, #20, #21, #22, #23

Extra Practice 5

Test tomorrow

All solutions to tonight's homework will be
posted on line in this VERY lesson
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paq
()X (-1 _1 .
(~N+¢-N=-2

) (+Q) X (+9)
(F) $(+q) = +ig

1 1 1 1 1 1 1

1 1 1 1 1 1 1 1 1

A (1) (-3)
CIFEDFERI Y

-1 1 -1 1

A (F3) y (+7)
) HENH(47)

1 1 1 1 1 1 1

-1 -1 -1 1 -1
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P (=T x(~ 5)

2(A) (- x(-5) P2 . /,7
. . ( | 5 | X N . J L 4
1 i 1 1 1 1 |1_|1_|

- - -1 - A A A j
( - 4 . .
L 1 1 -1 | -1
1 1 1 1 1 1 1\‘|<l 1 1 1 ‘ | ‘
.

Take away 5 groups of -7

<) ~4x(+4)

—
e

_
NS Ve Te 7 B TR R
t\l(p 2(\’(’3%’4

d) GO ()
X groups o G Doy Eives
= ~|-1_(_ Y
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3. L,L }')OU\"S — ? AOJQ I)OU\PS
Ttn\“) Ql\a\'\cge = ¥ X (-a)

-16
TQ"\? or(;é!-r +6 +(_/(°\
4 howrs - 10
£ (125)¢ (2)) (—l”%x(*/s )
h °f,
Q (‘H\x(ﬂ:;j oh (19 (+13)
heg pos
RGN ) (7)o
-~ 63 +;2? 20| VYox22
< IV (FIR) o) 2[2x 40|

N2 mle] o) (~46)x (~a3)
o/lxi2 143 35 4x22< 8%

- 143 RS ¥
e\ X (1) $y =37 40

-1 A
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(=32) x (1 )

L9
E3o t (—1)‘5 X (GrIO) + (+5)
’;<_SD)XQ°>3 b (S3ORGs) £CR) Gt ()¢S )
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1(-'595 < (n15) 30
9

Viove S'u

=(0x3) +( [0 X2)+ 6X3b) \-(7.)(5) 1o
= 30L 4 20 % |50 +v

S|

= 4% 0
(32) x (19) = %0
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b-A (-12)x__ —1722
— (o
Ky — x(15)=1%0
+

N FIyx__=0

\330 m] OS3 WatSr
R) (+5 )y (-7

T haves friendy L ow

Now /Y\U\Ql\ oko Lowe'?

September 25, 2017

?7 Qqcll 250 .
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Review for Test

Be able to multiply and divide integers, using;
- models (Tiles)
- number lines (only multiplication on test tomorrow)
- rules for multiplying and dividing

Be able to add and subtract integers using rules
Be able to recognize using models and number lines to add and subtract integers.

Be able to apply the rules for adding, subtracting, multiplying and dividing integers with
order of operations. (BEDMAS)

10 MC
7 Short Response

*Model multiplication with tiles

*Similar to any warmup (find the pattern, what two number produce
largest product or smallest product)

*similar to today's review (Especially word problem)

*Multiply using distributive property Ex) (-21) x (+15) No calculators
* Evaluate multiplication and division

*BEDMAS
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Model Using a number line

(-yl) X (+?>) :—/Q)

0,
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Q. (+/S)~(43)

L 1 1 1 1

9 (b) (+36)4-9) rewrite (__ ) x (-9) = (+306)

- - 4 A “ - 4 - -1 -1 ! /)(/“'ke “wd'\,‘ﬁ

i I | S0 I I R 4—(63r6u\p50¥"0\
JIBIEIEREE 126 =(~9)="Y4
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b, &) < (—3)

1 1 1 ] 1 1
— | L
" ! ! ( -1 . -1
——

=

1 1 1
— 1 1
= ||
-1 1 4 < 1,—
S —

{G'b\"e oL (o gr‘ouap;* 2 - E):

(-6 )
13 = (=3 = ~(,
b HIN = () = +7

ONnd¢ 14 (ny 2 grou,osoy')7

&) (%) — )

September 25, 2017

Diyide 2% hgg:ENES' inb t w:q,w-l’
b LS. Eodh AT6LpP il have ol

A\ l‘3()\ — (‘(.05

Olide ~30 W § groups & —6

26 - )= +S
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. (=S = (-8) = *13
Th )3 Leeks T(gler Wy [ hae
un Eh deago 5

b\ WI‘B\M \S o heg-

BA H2d= D =70 pyploin
— (—¢) = o
by (D= =y =+ e B0
A =N =GN = oS
3N U = N = 0 =y or ‘_aaé/

3 A 5K~ () by GO = 9

=19 = —%
O\ (-23)= & @ d) +2) =+
= —J\ i‘HL[v
o 8- Dtk -
A = 4G Hu
A “\% - -3 o\) 0o 0

T =
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S HaN L (< 2) ) (-63)= )
-~ 2 -3
c) t8) = (Hs) 2 L"G‘i\q“' a
- +4

b (=3) = (=3) =+

She removed candies o 2 days
7 T = A

;r hadk 4—_79 WG I @',J—J\dr—m?;q ecch
wee A How lbh(@ 65 anAl have ¥73.
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b -2l < - =Ha -yt =Y
—d| = -3= +7 -2 < +3= -7
-2l =) =3 2=+ =3
-2 = -2 = ~2l =2l =]

&, o) 4= (=) by (-1 A-9) 3

i —(-12 2 + 3
RPN )

¥l
O [1-(-N=5 N 4 < (-A

C14+2)=5 ’Qil‘b‘"j‘
Vo— 6

)= - 21)b) (-5) + (-12) *+ (-3) 21)c) 18+3[10+(-5)] 21)d) (-16)+ 8[7-(-2)]
= (-2)+6(3) = (-B) + (+4) = 18 +3(-2) = (-16) + 8[7+(+2)]
= (-2) + (-18) = (-1) = 18+ (-6) = (-16) = 8]
=23 = 412 = ('2) [9]
= 18
c) 20
22)a) 3(-6) - 3 b)_(-4) + [ (-7) - (-2)]
5 2 (-3) + (-14) +7
= (18)-3 (-4) + [ (-7) + (12)] = 20
! 3 (-3)+ (2)
(-18) +(-3) 4)+[ (-5
= 20
-7 3
(-5)
_ 21 (:9)
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Ay 25 A=) H )
¥, + ()Y 4y
)
Suzghhe
Ly B3 dgl-3) +2x WD)
rg + (-12)) ¢+
-t
CON/'S Lo s\hee + 7~
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Extra Practice 5 7/ oot Scturicns fir Trtdiay's Cluss

SHOW ALL WORK ON YOUR OWN PAPER

Lesson 2.5: Order of Operations with Integers

1. Evaluate. State which operation you do first.

a) 854 (I 2 9]
= e -9 s\
= % ~do
¢ 18+[(-7)-2] d) (-3)+(-14)+(=2)
N v
= 182 THN&M = E9) + 7))
I T
= 8~ = 4y
NN
=
2. Evaluate. Show all steps.

a) 4(-8)-9 b) (-1)+(=20)+5
= (20)-9 = (1) + (4)
=(-24)+ (-9) B
=-32 =

¢) (-9)+(A4)(-2) d) IR -11]
=(-9) + (+8) =(-3) [(-8)+(-11)]
= - =(-3)[(-19)]

N —
= +57
3. Evaluate.
\ (-5)+(-9) _ 14) ) -12 =-12
2 ) (-2)(-3) (+6)
=-2
=-7

0 24+;—-6)—1 QO _36

-3 (-5)x2+4

- @ - 36
° (-10) + 4
= é T

5 = 36

(-6)

=+1 = -6
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ff é mework Dolutic ns / or Tr/tﬁf Y 's Glass
4. Evaluate.

a) (—72) =9 +4 % (=3) b) 5(-2)-63+(-7)
vN— -
(=8 + 94 £ () = (-10) - 63 + (-7)
= (-10)- (-9)
L‘S\ + (_n) = (-10) + (+9)
~10 = -1
9 4(=5)+[28 +(—4)] Q) Ax(4)+(=9)
5x(=2)+1 [10+(=D]+[2x(-3)]
) = (-16) (s
)l il [ (+9) 1+. (-6) 1
10y +1
= (- 24)
_ -0 4 -0 ] (+3)
oy +1
=-27 =-8
9

=+3
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Attachments

Q Extra Practice 5 Orderof Operations (Integers).pdf



Extra Practice 5

SHOW ALL WORK ON YOUR OWN PAPER

Lesson 2.5: Order of Operations with Integers
1. Evaluate. State which operation you do first.
a) 8x5-4 b) (-4)[(-4) +9]
c) 18+[(-71-2] d) (-3)+(14)+(-2)

2. Evaluate. Show all steps.

a) 4(-8)-9 b) (-1) + (-20) + 5
c) (-9)+ (42 d) (-3)[(-8)-11]
3. Evaluate.
a) (=9) +(=9) b) -12
2 (=2)(-3)
0 24 +(-6) -1 d) 36
-5 (-5)x2+4
4. Evaluate.
a) (-72)+9+4x (-3) b) 5(-2) — 63+ (-7)
0 4(-5) +[28 + (-4)] d) 4x(-4) +(-8)
5x(-2)+1 [10+ (-D]+[2x (-3)]

5. Evaluate each expression. Then insert one pair of square brackets in each expression so it
evaluates to —1.

a) 12+ (-4)+(-8)
b) ((9)+6+3

c) 5+(-5x0+1
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